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1 = goo E 600,000
T2 = goo E 186,666
T2 = goo E 186,666
T2 = goo E 186,666
T5 = ooo E 75,000
T5 = ooo E 75,000
T5 = ooo E 75,000
T5 ("] g E 75,000
T5 = ooo E 75,000
T10 = goo E 56,600
T10 = goo E 56,600
T10 = goo E 56,600
T10 ("] g E 56,600
T10 = goo E 56,600
T15 = ooo E 48,500
T15 = ooo E 48,500
T15 = ooo E 48,500
T15 = ooo E 48,500
T19 = ooo E 45,750
T19 = ooo E 45,750
T21 = goo E 42,000
T21 = goo E 42,000
T21 = goo E 42,000
T21 = goo E 42,000
T21 = goo E 42,000
T21 = goo E 42,000
T21 = goo E 42,000
T28 = goo E 36,500
T28 = ooogd E 36,500
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36,500
36,500
33,000
33,000
33,000
28,500
28,500
28,500
28,500
28,500
28,500
24,000
24,000
24,000
24,000
24,000
20,440
20,440
20,440
20,440
20,440
20,440
15,642
15,642
15,642
15,642
15,642

15,642
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